EARAROBREBRT —5 XN—ZXBISH—F 20226098228 (R) 7ELEAI3H

¥ wisss (oR@EE) YS5%2®I1 958 [ml m | mewml - | 5 o0 wa
[AXE%) 1 & :3,000,000  ~ 23#&:1,050,000 337%:600,000H 4 3&:450,000 . 5 & :300,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
HEst : -6-3- - EEH— ()11)
11111 FN\Y 4 2 Eg.JO 1.(3_8).8 6-6-3-1 | 40.9 3 (43:78) oL
RiZTvF—Orvbh B:ISYRSFILZAH hE S
NS P o2 | AEEX 1:39.3 2-3-4-3 |41.5| - 1| 448 | NAIRE CGEAD)
JU—hrJv—= 54.0 @1/ (45) | BULARAL
R:hyd—F)LYI B:RAE—rDYaD R &
Ea77XUhY t 2 | BEE (11319/26) 4455 |41.8| — | 4 (462) :Ji\;%{?ég (G2
RTFAUAYRA Ty N BTPIVFUTaA )| s
224 )L</\O H 2 ﬁ%ﬂe% 1 (332‘)7 5564 |41.5| - 7 (4:314) igg%@a GRFD)
R:5= B:=a/FtF WA A0
-3 == 2 | FBEBA 1:40. 1-1-1-2 | 43.3| — 2 | 458 |BH—EI C#0)
“vY3avIzsq e 55.0 (3% } >3 (_548) IXIZE (A)
R:ISUFvYr BEIV—FE—vav HAAt ATHEE
hERx :40. -7-7- . - JBRED] (ATl
617|7|FvITRA "2 350 (12410/2% Al ° ffé)) EHEts
RNRROD B:ITATAHILET e
\ $ t 2 | WOKER 1:41.0 3-2-2-6 |43.7| - 5 M4 | EBIEE #E)
715105 V—ix i 5.0 (3/4) e | @ Y=7—u7
RRU—LNVYF/ I WR=4F 77— In
@ 1—F—&RIEL
13—7F+— 2,3,5,6,4,1,7
20—F— 2,5,3,6,4,1,7
30—7+— 2,5,1,3,6,4,7
Mal=5r= 1.2,3,4,6,5,7
o ILRE
BB 1 600 | [ DA K 1-3 1909 5 & 1-3 450 3EE 1-3-6 1,270M
B B 1 160/ 1-6 400 =51 1-3 1,270M 3EH 1-3-6 6,650/
3 1309 3-6 290

ABIC OV TRUTEREERRODDZE. THRIIZEL.



